EB-2022-0044 : 1 : Donna Brady

<u></u>		
COST CLAIM NUMBER 1081	SUBMISSION DEADLINE DATE January 10, 2023	CLAIM STATUS Approved by Finance
EB# EB-2022-0044: Rates: Distribution: Kingston Hydro Corporation	OTHER EB#S	PHASE #* 1
INTERVENOR Brady, Donna; +1 (613) 562-4002 x.121 dbrady@piac.ca	INTERVENOR COMPANY* Vulnerable Energy Consumers Coalition, Toronto:	INTERVENOR TYPE Qualifying Non-Profit
HST RATE ONTARIO 3.94	EXCHANGE RATE	COUNTRY
HST NUMBER 130592405RT0001	LATE SUBMISSION ALLOWED	EXTENSION DEADLINE DATE

PARTICIPANTS

			T-4-1 (A)	Participant
New	Non-Filing Participant First, Last Name	Filing Participant	Iotal (\$)	Claim Status
No	,	Harper, Bill; +1 (416) 348-0193 bharper.consultant@bell.net	7,889.04	Submitted
No	,	Garner , Mark; +1 (647) 408-4501 markgarner@rogers.com	15,177.84	Submitted

ATTACHMENTS

Attachment	Attachment Date Participa	Document nt Type	Claim Import Type Message
Cover Letter Jan-9-2023 EB 2022-0044 Kingston.pdf VECC EB-2022-0044 Cost Claim 010920231200.pdf			
TOTAL LEGAL/CONSULTANT/OTHER FEES 22,192.50	TOTAL DISBURSEMENTS 0.00		TOTAL HST 874.3
TOTAL CLAIM 23,066.88	TOTAL AMOUNT AWARDE)	
REASON FOR DISALLOWANCE	REASON FOR DISALLOWANCE - 2		REASON FOR DISALLOWANCE - 3
MAKE CHEQUE PAYABLE TO Public Interest Advocacy Centre			
SEND PAYMENT TO ADDRESS 2-285 McLeod Street			ATTENTION Donna Brady

Ottawa, ON K2P1A1

SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY Donna Brady

DATE SUBMITTED January 09, 2023

<u>Bill Harper</u>

January 27, 2023

			<u>Bill F</u>	<u>larper</u>			PARTICIP			
CASECOST CLAEB-2022-0044: Rates:EB-2022-0Distribution: Kingston HydroEB-2022-0CorporationFILING PARTICIPANTHarper, Bill; +1 (416) 348-0193bharper.consultant@bell.net		AIM 0044 : 1 : Donna Brady NEW PARTICIPANT No		Brady, Do	INTERVENOR NAME Brady, Donna; +1 (613) 562-4002 x.121 dbrady@piac.ca NON-FILING PARTICIPANT F. NAME			CLAIM STATUS Submitted NON-FILING PARTICIPANT L. NAME		
				-						
SERVICE PROVIDER TYPE YE Consultant			YEAR CALLED TO BAR		COMPLETED YEARS PRACTICING/YEARS OF RELEVANT EXPERIENCE 40			HOURLY RATE 330		
CV STATUS (FOR CONSULTANT/ANALYST) CV Provided within Previous 24 Months		LAST CV Novemb	/ DATE er 22, 2021			40	-	RATE NRGED 3.94		
HEARINGS Yes		CONSUI No	TATIONS	DIS No	BURSEMENT	S				
HEARINGS										
Name			Hours	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	Total		
Review Application and Evider Review Application and I				330		3.94	1			
Discovery				000		0.0-	r			
Preparation of Interrogat			5.75	330	1,897.50	3.94		1,972.26		
Review Interrogatory Re Technical Conference Pr			0.50	330 330	165.00	3.94 3.94		171.50		
Technical Conference At	-			330		3.94				
Technical Conference Fo				330		3.94				
Issues List	·									
Preparation			0.50	330	165.00	3.94		171.50		
Attendance at Issues Co Intervenor Evidence	nterence			330		3.94	ŧ			
Preparation				330		3.94	1			
Interrogatory Responses	5			330		3.94				
Preparation of Witness(e	es) for Attend	lance		330		3.94	1			
at Hearing										
Settlement Conference / ADR Preparation			5.50	330	1,815.00	3.94	4 71.51	1,886.51		
Attendance			7.50	330	2,475.00	3.94		2,572.52		
Preparation of Settlemer	nt Proposal		2.25	330	742.50	3.94	4 29.25	771.75		
Attendance at Presentat	ion to Panel			330		3.94	1			
Oral Hearing Preparation				330		3.94	1			
Attendance at Oral Hear	ing			330		3.94				
Submissions	J			•						
Written Submissions				330		3.94				
Oral Submissions Attendance at Oral Subr	nissions			330 330		3.94 3.94				
Other Attendance	113310113			330		5.94	T			
Other Attendance				330		3.94	1			
Communication										
With Client				330		3.94				
With Other Parties Motions				330		3.94	ŧ			
Preparation of Motion(s)	Materials			330		3.94	1			
Prepare Submissions on		s)		330		3.94				
Attendance at Hearing o				330		3.94	1			
Confidentiality										

Preparation of Application for		330		3.94		
Confidentiality						
Prepare Submissions on Confidentiality		330		3.94		
Attendance at Hearing on Confidentiality		330		3.94		
Decision						
Review		330		3.94		
Rate Order						
Review	1.00	330	330.00	3.94	13.00	343.00
Prepare Submission on Rate Order		330		3.94		
Total Service Provider Fees						
Total Service Provider Fees:			7,590.00		299.04	7,889.04

Attachments

Attachment

Time Docket BH.pdf Invoice BH.pdf Document Type Time Docket Invoice

Import Message

Hearings, Consultations, Disbursements Attachments

<u>Attachment</u> Time Docket BH.pdf Invoice BH.pdf

Related Disbursement Claim

<u>Document</u> <u>Type</u>

TypeClaim TypeTime DockeiHearingsInvoiceHearings

Import Message

CC_Participant_Combined.rpt - last Update 20211112 2:17 pm

		;	COST CLAIM DETA	LS:		ONTARIO	ENERGY BOARD		n na sin sin ji Na si si sing
			NAME:	BILL HA	RPER	HOU	RLY RATE:	\$330	
		NG GOG D	SERVICE:	CONSL	JLTANT	YEARS E	XPERIENCE:	40	
			FILE #:	EB-202	2-0044	PROCES	S:	Kingston Hydro 2023 Rates	
					DATE	HOURS	<u>DETAILS</u>	HOURLY RATE	<u>SUB</u> TOTAL
			DISCOVERY			······································		MALE	
			- Preparation of Inter	r.	11/08/2022	5.75	Draft IRs	\$330.00	\$1,897.50
			- Review Interr. Resp	••••	20/09/2022	0.50	Review IRRs	\$330.00	\$ 165.00
			ISSUES LIST)				
· • .	in the style is in		- Preparation	n an an an An airte an an	03/08/2022	0.50	Review Appl/Draft Issues List	\$330.00	\$ 165.00
	,		SETTLEMENT				· · · · · · · · · · · · · · · · · · ·		
£.,555	tetating a		- Preparaton	R 31 - 133	21/09/2022	4.00	ADR Notes	\$330.00	\$1,320.00
5 . A	teres a state	ara a San	Tioparation	na an Diana amin'ny faritr'o amin'ny faritr'o amin'ny faritr'o amin'ny faritr'o amin'ny faritr'o amin'ny faritr'o amin	22/09/2022	1.00	Clarification Questions	\$330.00	\$ 330.00
0 ,50	thep for APR		<u>5 5 5(),(4()</u>	5 195	29/09/2022	0.50	Prep for ADR	\$330.00	\$ 165.00
	Strange Press		- Attendance		28/09/2022	3.50	ADR Atttend - MG Split	\$330.00	\$1,155.00
(1, 2)	and Area at Area		5.84.0		29/09/2022	2.00	ADR Atttend - MG Split	\$330.00	\$ 660.00
	Marka and Sand	inger Verster um		2.1992	30/09/2022	2.00	ADR Atttend - MG Split	\$330.00	\$ 660.00
: ₁₉₁₁	Прасула нана (- Prep. Of Settl Prop.		14/10/2022	1.50	Review SP Draft #1	\$330.00	\$ 495.00
1	i i i i i i i i i i i i i i i i i i i		<u> </u>	2.07. 	26/10/2022	0.75	Review SP Draft #2	\$330.00	\$ 247.50
	a a a a a a a a a a a a a a a a a a a		RATE ORDER (RO)		· · · · · · · · · · · · ·				
e tr			- Review	- 12.1	29/11/2022	0.50	Review DRO	\$330.00	\$ 165.00
··					01/12/2022	0.50	Review DRO	\$330.00	\$ 165.00
÷ .		·····	SUB-TOTAL	.e.811	·)	23.00	· · · · · · · · · · · · · · · · · · ·	•	\$7,590.00
			HST (13%)	· · · · · · · · · · · · · · · · · · ·			· · · · · · · · · · · · · · · · · · ·		\$986.70
			TOTAL	· · · · · · · ·	· · · · · · · · · · · · · · · · · · ·				\$8,576.70

 $\frac{A}{2} \frac{D}{2} = \frac{D}{2} \frac{$

WILLIAM O. HARPER

107 BAKER AVE, RICHMOND HILL

ONTARIO L4C 1X5

TELEPHONE: 905-883-1727

Email: bharper.consultant@bell.net

January 5, 2023

Statement of Costs for:

Vulnerable Energy Consumers Coalition c/o Public Interest Advocacy Centre 200-285 McLeod Street Ottawa, Ontario KP2 1A1

Attn: Donna Brady

Statement No. 2023002

(Kingston Hydro's 2023 Rate Application) (Kingston Hydro's 2023 Rate Application)

	Services () (see attached)		\$ 7,590.00
	HST (13%)	۹.	\$ 986.70
TOTAL			\$ 8,576.70

.

PAYABLE TO: WILLIAM HARPER

HST/GST Registration #81998 6902 RT00001

Mark Garner

EB-2022-0044: Rates: E Distribution: Kingston Hydro Corporation FILING PARTICIPANT Garner , Mark; +1 (647) 408-4501 markgarner@rogers.com SERVICE PROVIDER TYPE Consultant CV STATUS (FOR CONSULTANT/ANALYST) CV Provided within Previous 24 Months HEARINGS Yes		IM 144 : 1 : Donna Brady NEW PARTICIPA No YEAR CALLED TO E LAST CV DATE November 17, 2021 CONSULTATIONS No	Brady, Do x.121 dbra NON-FII ANT PARTIC	IPANT F. NAM MPLETED YEA ACTICING/YEA LEVANT EXPE	E NRS NRS OF RIENCE 31	HST	ATUS L. NAME Y RATE 330 RATE RGED
		PARTICIPA No YEAR CALLED TO E LAST CV DATE November 17, 2021 CONSULTATIONS	ANT PARTIC	IPANT F. NAM MPLETED YEA ACTICING/YEA LEVANT EXPE	ARS ARS OF RIENCE 31	PARTICIPANT HOURL	Y RATE 330 RATE RGED
Consultant CV STATUS (FOR CONSULTANT/ANALYST) CV Provided within Previous 24 Months HEARINGS Yes HEARINGS		LAST CV DATE November 17, 2021 CONSULTATIONS	PR/ REI DIS	ACTICING/YEA .EVANT EXPE	ARS OF RIENCE 31	HST	330 RATE RGED
CONSULTANT/ANALYST) CV Provided within Previous 24 Months HEARINGS Yes HEARINGS		November 17, 2021	-				RGED
HEARINGS			-	BURSEMENT	•		3.94
					5		
Nomo	_						
<u>Name</u>	-	Hours	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
Review Application and Evidence Review Application and Ev			330		3.94	Ļ	
Discovery Preparation of Interrogator	ioc	19.00	330	6,270.00	3.94	247.04	6,517.04
Review Interrogatory Resp		5.50	330	1,815.00	3.94		1,886.51
Technical Conference Prep		0.00	330	.,	3.94		.,
Technical Conference Atter	ndance		330		3.94	Ļ	
Technical Conference Follo	ow Up		330		3.94		
Issues List		0.50	220	165.00	2.04	0.50	171 50
Preparation Attendance at Issues Conf	erence	0.50	330 330	165.00	3.94 3.94		171.50
Intervenor Evidence			550		0.04		
Preparation			330		3.94		
Interrogatory Responses			330		3.94		
Preparation of Witness(es)) for Attenda	ance	330		3.94	Ļ	
at Hearing Settlement Conference / ADR							
Preparation		11.25	330	3,712.50	3.94	146.27	3,858.77
Attendance		7.75	330	2,557.50	3.94		2,658.27
Preparation of Settlement I	Proposal	-	330	,	3.94		
Attendance at Presentatior			330		3.94	Ļ	
Oral Hearing			000				
Preparation	a		330		3.94		
Attendance at Oral Hearing Submissions	y		330		3.94	•	
Written Submissions			330		3.94	ļ	
Oral Submissions			330		3.94		
Attendance at Oral Submis	ssions		330		3.94	Ļ	
Other Attendance			~				
Other Attendance			330		3.94		
Communication With Client			330		3.94	1	
With Other Parties			330		3.94		
Motions			000		0.04		
Preparation of Motion(s) M	laterials		330		3.94		
Prepare Submissions on the		;)	330		3.94		
Attendance at Hearing on I Confidentiality	Motion(s)		330		3.94		

Preparation of Application for		330		3.94		
Confidentiality						
Prepare Submissions on Confidentiality		330		3.94		
Attendance at Hearing on Confidentiality		330		3.94		
Decision						
Review	0.25	330	82.50	3.94	3.25	85.75
Rate Order						
Review		330		3.94		
Prepare Submission on Rate Order		330		3.94		
Total Service Provider Fees						
Total Service Provider Fees:			14,602.50		575.34 1	5,177.84

Attachments

Attachment

Time Docket MG.pdf Invoice MG.pdf

Document Type Time Docket Invoice

Import Message

Hearings, Consultations, Disbursements Attachments

<u>Attachment</u>

Related Disbursement Claim

Time Docket MG.pdf Invoice MG.pdf

Document

Туре Claim Type Time Docke Hearings Hearings Invoice

Import Message

INVOICE # Date Client:	KINGS0044 January 8, 2022 PIAC-VECC		EB-2022-00			Mark C Garner 647 Broadway Toronto, On	
File:	KINGSTON HYDRO	KINGSTON HYDRO CORPORATION			M4G 258		
Period covering:	March 11, 2022	November 22, 2022					
Billable Hours	44.25	@	Rate	\$330.00	HRs	\$14,602.50	
Disbursements Detail	N/A					n/a	
HST No. No. 87831 4327 RT001		@	Rate	13%	HST	\$1,898.33	
Т	Fotal	- 1		<u>.</u>		\$16,500.83	

TERM: Payable upon receipt of payment from the client net of service charges Please make amounts payable to Mark C. Garner.

Detailed Dockets Kingston Hydro Corporation EB-2022-0044

Date	Hrs	Code	Description
March 11, 2022	1.50	IRP	Pre-filing meeting -meeting and prep
July 25, 2022	0.50	IRP	Intervention - review and notes
August 4, 2022	0.50	ICP	Issues List - review/SEC adds and email to parties
August 27, 2022	4.25	IRP	Interrogatories - Application review- notes
August 28, 2022	5.50	IRP	Interrogatories - Application review- notes
August 29,2022	7.25	IRP	Interrogatories - Application review- notes
September 23, 2022	5.50	IRR	Review IR responses
September 27, 2022	7.25	ADP	Complete review of IRs and Prepare for ADR
September 28, 2022	3.50	ADA	ADR Day 1: 9:30-5:15/45 min lunch/7.0 shared with BH
September 28, 2022	0.50	ADP	ADR Day 1: After meeting notes
September 29, 2022	2.25	ADA	ADR Day 2: 9:00 am - 11:30/ 3:30-5:30/ 4.25 shared with BH
September 29, 2022	1.00	ADP	ADR Day 2:After meeting notes
September 30, 2022	2.00	ADA	ADR Day 3: (9am - 11+12-2) 4.0 shared with BH2
October 17, 2022	1.50	ADP	Review 1st Draft of Agreement and models/consolidate comments
October 25, 2022	0.50	ADP	Review 2nd draft
October 27, 2022	0.50	ADP	Consolidate comments - emails/ check re KHC counsel
October 28, 022	0.00		Final review and sign off N/C
November 4, 2022	0.25	ARG	Review Staff submission
November 22, 2022	0.25	N/C	Review Board Decision - not charged
TOTAL	44.50		· · · ·

INVOICE # Date Client:	KINGS0044 January 8, 2022 PIAC-VECC		EB-2022-00			Mark C Garner 647 Broadway Toronto, On	
File:	KINGSTON HYDRO	KINGSTON HYDRO CORPORATION			M4G 258		
Period covering:	March 11, 2022	November 22, 2022					
Billable Hours	44.25	@	Rate	\$330.00	HRs	\$14,602.50	
Disbursements Detail	N/A					n/a	
HST No. No. 87831 4327 RT001		@	Rate	13%	HST	\$1,898.33	
Т	Fotal	- 1		<u>.</u>		\$16,500.83	

TERM: Payable upon receipt of payment from the client net of service charges Please make amounts payable to Mark C. Garner.

Detailed Dockets Kingston Hydro Corporation EB-2022-0044

Date	Hrs	Code	Description
March 11, 2022	1.50	IRP	Pre-filing meeting -meeting and prep
July 25, 2022	0.50	IRP	Intervention - review and notes
August 4, 2022	0.50	ICP	Issues List - review/SEC adds and email to parties
August 27, 2022	4.25	IRP	Interrogatories - Application review- notes
August 28, 2022	5.50	IRP	Interrogatories - Application review- notes
August 29,2022	7.25	IRP	Interrogatories - Application review- notes
September 23, 2022	5.50	IRR	Review IR responses
September 27, 2022	7.25	ADP	Complete review of IRs and Prepare for ADR
September 28, 2022	3.50	ADA	ADR Day 1: 9:30-5:15/45 min lunch/7.0 shared with BH
September 28, 2022	0.50	ADP	ADR Day 1: After meeting notes
September 29, 2022	2.25	ADA	ADR Day 2: 9:00 am - 11:30/ 3:30-5:30/ 4.25 shared with BH
September 29, 2022	1.00	ADP	ADR Day 2:After meeting notes
September 30, 2022	2.00	ADA	ADR Day 3: (9am - 11+12-2) 4.0 shared with BH2
October 17, 2022	1.50	ADP	Review 1st Draft of Agreement and models/consolidate comments
October 25, 2022	0.50	ADP	Review 2nd draft
October 27, 2022	0.50	ADP	Consolidate comments - emails/ check re KHC counsel
October 28, 022	0.00		Final review and sign off N/C
November 4, 2022	0.25	ARG	Review Staff submission
November 22, 2022	0.25	N/C	Review Board Decision - not charged
TOTAL	44.50		